~ R o
< IJJ;?(;’ J:,:;j»/u)’* Yy

Maulana Azad National Urdu University, Hyderabad.
B.Tech. It year
It Semester Examinations February 2022

Paper: Engineering Mathematics-1 1-_1#¥_£%¢1  Code: BTCS101BST
705t A 15-02-2021 3,

HCY A"
e G U = U e s IS U L L e F U ety 2

ZUE00L P 12601y -t 2L U 0805 F b -t i 10UE s = @

(8x5=40 marks) ~wuég¢’/7}5§}—¥:d’}’/;’-‘¢*}w/
LU0 F 26y ot 2L U 0305 e Ut 1 05 s @
(3x10=30 marks) A F e A0l Ly oS

(8x5=40) _‘Lu‘;?/:}S ic':dfr/:_:é)c«l,lﬁd:anrSJ/cufaﬂiij,?/;: Jlr
rl/"d/Rolle’s theorem f(x) = (x + 2)3(x — 3)*,[—2,3] '(function) J‘@ﬂ)fé.u/)(l
_‘at‘/qf“b/[ﬁl;‘

L =t L )16 Leibnitz Theorem? y = a cos(logx) + b sin(logx) /1
X*Ypiz + 2+ Dxype + (@ + 1)y, =0

x3+y3

. 0 ou .
_a{(kﬂwjd/x—u + y—umu = eax+4y [1(3
b dx ay

u’:‘;’ Kw@jw'&_/(smsfy) U/“b[Cayley Hamilton Theorem :/(Matrix) A u’}'l.f’glé/)@
_é (}L"‘ A™! (Inverse Matrix) J' 7

1 3 7
A=14 2 3
1 2 1

U5 S § AP K(System of Simultaneous Linear Equations) < Udislri” 5 & 25 (5
(Infinitely Many Solutions) )’ $(6)  (Unique Solution) Jf' 13 #(a)
&L unF(No Solution ) F $4()

3x—y+4z=3, x+2y—3z=—-12, 6x+5y+Az=-3




LUze Basis) UK RS S = {vy, 15,05} S5/ A6

v, = (1,1,1),v, = (1,1,0),v; = (1,0,0)
J/‘LC/J'(Linear Transfonnation))@“!ubugl,T: R3 — RZ .4
T(v1) = (1,0),T(vy) = (2,-1),T(v3) = (43)
& s (Formula) o L T(x,y,2) 3

/,:ulyg-u?émauﬁ linear combination L{vl, Uy, Ug}}’/w= [_61 :g] Vectorf’glé/)‘@
v_[4 o]v_[1 —1]v_ 0 2
tol2 2Pl 31Tl 4

_:é(}‘” Basis §Null space L (Matrix) A J}'LC‘%) (8

1 4 5 2
A=[2 1 3 0
-1 3 2 2

< linearly independent { linearly dependent U* R3'vectors Za‘.—}é’%lf) 9
u; =(=2,01), u,=(4-20) uz =(6,-6,3)

du.. _ 3
-ér)’*d—l;yx = e%t,y = e?'cos3t,z = e?tsin3tsiu = x% + y? + z2./1(10

(x10230) ~- F F10 L L1y p-Borebin Lt 33 e Ure e S50 Jiv
-é ")1’” Eigen vectors »s/Eigen values L (Matrix) A U }'L&f S a1
6 -2 2
A=|-2 3 -1
2 -1 3

)’”&é:'d/A7 231 (Diagonal Matrix) u’}'l.d}')d/u’!' Modal Matrix “i Z (Matrix) A J]LJJ}( 12
( g

-2 2 =3
A=[2 1 —6]
-1 -2 0
& bl b_az <tan"lb—tan"la < b_az on0<a<b< 102 =603
1+b 1+a
L
T 3 4 m 1
Z+£<tan §<2+g



>/ A '(Basis) J'L-/6 Row space ' Row Space Column Space < Z(Matrix) A JASS (4

Rank Nullity » A A %35 FL-sNullity of A '(Basis) 'L-1§Null Space '(Rank of A)

,EQ./(Satisfy) J/“b Jtheorem
-3 2 2 1)
3 6 0 =3
—3 —2 4 4 |
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é S }’/(Integration),yf (15

Jff (x? +y% +2z?) dxdydz
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_”é: J (By changing order of 1ntegrat10n)// Jaes WAl (Integration),}yf (b
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